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K $M-/S����0T3������ #�
 #���?!:�
UD�����?���� #�/���=�����2�1���1!���������V
WF�����X>F�2�����"7���!�!;�����?�1���H�&��Q�Q��8���������&�5�����&�������� G���&�H�E>����* #���������%Y

x(t) = v0 · t

y(t) = 1.2 − 4.905 · t2

WF�(�GN��������2�����
tv
���8 �����!��
���������% #� K  �����!��"7��9>�������-Z!��� ������?�"�������X>�������Y

y(tv) = 0 = 1.2 − 4.905 · t2v ⇒ tv =
√

1.2
4.905

∼= 0.495
�

K �[-1\5���%�^]_���#�"���1�����">������F���& #`
�����a]b�&�� G�%�3 ��c�&�=�����<N��
�2���������% #�1�&�8 G��>������3V
x(tv) = v0 · tv = 1.5

�
⇒ v0 = 1.5

tv
∼= 3.03

�d
e�

K 7M-1\5���%�^]_UH�2�"�����">������F���X G`"���&�^]_���� #���� #�f���P�����9 ��g�����
����!���>g�&�?���� #�3V
vx(tv) = v0

∼= 3.03
�d
e�

vy(tv) = 9.81 · tv ∼= 4.85
�O
%�

v(tv) =
√

v2
x + v2

y
∼= 5.72

�O
%�

K �[-(T3���%�^]_UD�&�8>%���������5�&�=Q��#��7��87����&�^]b����Q����&�17��<�&�?!��e � #�/�����=����!���>g�&�?���� #�3V
K ����7;�����"�������&�"���GN����O�
7����&�2�1���& #�������&�����H�^]b����Q������178]b�&�?!��e � #�/���������% ��3-

α = tan−1(4.85
3.03

) ∼= 58◦
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v = 15 m

s�E����� ��� ����Q������1>��������O�^]b���X #�"7��
30◦

������!:�� � #�?�����a]b�������������� #�����%A�� ���������2���;7���!:�?�[>����07�������Q%'
���e #�
�2�1���& #�������&�������;7������;�& #�
�&�9���&�� #���O�"7��<���&46������������ ��1�D�[>����0���&�������% #�
�97��e #�^Y

K ��-(7;��!���T3������ #�
 #���?!:�"���8�#�������? ��g�����"�^]b����TF�����
WF�����X>���7���!�!;�����?�1���H�&��Q�Q��8���������&��Y
x(t) = 15 · cos(30◦) · t
y(t) = 8 + 15 · sin(30◦) · t − 4.905 · t2�ZN;�2�����

tv
�&�% �����!�� 7��%>����&��A�S ���R������������������� ���e>��%������� ���&�����X>�� ��� ����Q������� #� ��TF�������&������Y

y(tv) = 0 = 8 + 15 · sin(30◦) · tv − 4.905 · t2v ⇒ tv ∼= 2.25
�

K $M-/�
�GN��E7��&�� G�%�����
�����&�������� G���&�57����&�2�/$��%���D7����&�2�1���;!��H #�F�����"�^]b����T3�����
x(tv) = 15 · cos(30◦) · tv ∼= 29.3

�

K �[-(T3���%�^]_UD�a] �%�& #�������1�O�������&�O�1����Q�Q��&���� G�17����<���������	�
�ZN;�2�����

ts
���8 �����!��"7;�<�#���&�& G�gA�
 �<�����">%���&�����H�����#`;Y

ts = 15∗sin(30◦)
9.81

A
y(ts) = 8 + 15 · sin(30◦) · ts − 4.905 · t2s

∼= 10.9
�

K 7M-/�
T3�����&�H7����* G�������"�����&�������3 #�����H���9 #���+>%�
���&�2�/�?���������?�"���& ����������
x(ts) = 15 · cos(30◦) · ts ∼= 9.93

�

K �[-(T3���%�^]_UD�&�9���g7��;���17��������/>����&�g���& #`1�����R!����� ��?7��8�O�������&�O�"���X #���������
vx(ts) = v0x = 15 · cos(30◦) ∼= 13.0

�O
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K 4G-(T3���%�^]_UD���/>������F���& #`"7��9����!��% � #�"����� �a] �%��T3�����
vx(tv) = v0x = 15 · cos(30◦) ∼= 13.0

�O
%�
vy(ts) = v0y − 9.81 · tv = 15 · sin(30◦) − 9.81 · tv ∼= −14.6

�d
%�
v =

√

v2
x + v2

y
∼= 19.5

�d
%�

K Q3-(T3���%�^]_UD�a] �%��Q����&�17��<����!��% � #�1�����=�^]b����T3�����
�ZN;�2�����

α
�^]b����Q����&�1�GN��E����>��� � #�����(7;�������/>������F���& #`/46�����?�1����� �a]b�������������� G�%���

α = tan−1( vy

vx

) ∼= 48.3◦
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v0

�g��7?���d���;Q������
α
������!:�� � #�����&�^]_�����&�������3 #�����%A WF�<�GN�����7���Y

K ��-(�;���/���GN����?�D7;�������H���& �������������� �&�?��������Q��;���M���������* #���?�H7��M���X46�����&�?���� #�H��!������������ �������X #�	�

K $M-(�a]b��T3�������&�����E�����������/7����R���� #�"�������������� #�����

x(t) = v0 · cos(α) · t

K �[-(�a]b��T3�������&�����E�����������/7����R���� #�1>����* #���������

y(t) = v0 · sin(α) · t − 1
2
g · t2

K 7M-(7;�<����!;���������������&�P46�;�����&�����H7��
v0

�E7��
α
���2�17;���� #�������
����Q�Q��&���� G�"7����8!������&�� � #���&���


 �9 �����!��
7��9>������
tv
>��%���H���87���!�!��&�"7����< �����!��"7��<�������X G�

ts
Y
tv = 2 ·

v0·sinα

g

7;���� #������������Q�Q��&���� G�;Y
d = x(tv) = v0 · cosα · 2 ·

v0·sinα

g
= 2 · v2

0 ·
sinα·cosα

g

K �[-(7;������!������������ �3���
46�������&�����07��
v0

�f7��
α
�F�a] �%�& #�������D�?���������?�H�#��Q�Q������� G�H7��%�:!;�����&�� � ����&���

�%�& #������������Q�Q��&���� G�;Y
h = y(ts) = v0 · sinα ·

v0·sinα

g
−

1
2
g · (v0·sinα

g
)2 = 1

2
· v2

0 ·
sin2α

g

K 4G-(!:��� T3�����&�D����Q����&�1�2�"7��&�� #�������"����Q�Q��&���� G�/>%�����5 ����H>����& #�H�a] �%�& #�������1�O�������&�O�;A

d = 3 · h ⇒ 2 · v2
0 ·

sinα·cosα

g
= 3

2
· v2

0 ·
sin2α

g
⇒ 2 · cosα = 3

2
· sinα

⇒
sinα

cosα
= 4

3
⇒ tan(α) = 4

3
⇒ α = tan−1(4

3
) ∼= 53.1◦


